
Quiz, Quiz, Trade


In this Kagan structure, students quiz a partner, get quizzed by a partner, then trade partners to repeat the process.
1. Give each student an index card with a question written on it that addresses important concepts you are about to teach.  The answer should be written on the same side as the question.
2. Have students pair up.  Then:

· Partner A quizzes. 

· Partner B answers.

· Partner B quizzes.

· Partner A answers.

· Rotate students so that new pairs are formed.

· Continue steps until all students have paired and quizzed.
3. Then, as a class, discuss each question.  Let the bearer of the card that has the question on it describe how their peers faired.  Were their peers able to answer the question on their card?  
4. Based on their response, sort the index cards into three categories: 1) need to teach 2) need brief review or 3) no need to teach.
5. Use this information to guide your teaching.
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	Sequence
	Sequence

	Description
	Description



	Compare and Contrast
	Compare and Contrast



	Cause and Effect


	Cause and Effect



	Problem and Solution


	Problem and Solution




	This structure is usually a series of events or steps in a process.

Example: Finally, the tadpole becomes a froglet.
	This structure can be written in chronological, or time, order.

Example: All the information on the time line appears in the order in which events happened from the earliest to the most recent.

	This structure usually tells about one topic by explaining details and characteristics of that topic.

Example: The title of the article is “Polar Bears” and I see facts about where a polar bear lives, what they eat, and how they look.
	This structure can be written be a person describing a certain aspect of his/her life in detail. 

Example: The author describes why he became a writer, where he gets his ideas, and what I should do to become a writer.

 

	This structure shows likenesses and differences among things.

Example: The first astronaut ate food from tubes, while astronauts today eat al  kinds of food. 

	This structure uses the signal words like, both, in contrast, on the other hand, but, however, and also.

	This structure attempts to explain why something happens.

Example: After the Civil War, life in the South was difficult for African Americans. They moved to the North and found jobs to improve their lives. 
	This structure uses the signal words reasons for, because of, in order to, caused by, leads to, and effects of. 

	This structure describes a problem and offers one or more solutions to that problem.

Example: The Leaning Tower of Pisa was in danger of falling over.  Engineers removed soil from one side of the tower to straighten it a little.
	This structure could be identified by signal words like as a result, problem is, therefore, and possible solution is. 

Example: The East became very crowded, therefore people went west to find better land and lead better lives. 


